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1. Answer any ten of the following as directed :
1x10=10
fgrreal wers R e webr T fore

{a) Are ‘symbolic logic’ and ‘formal logic’ same?

‘HPFYe SPREE W RS SR’
T 7
(b) Symbolic logic uses verbal / non-verbal /
both verbal and non-verbal symbols.
( Choose the right answer )
e SFRE RE [ wRe [ R
W S ToF AF1EE ABIFT AT FEA |
(= Tedchl MR Tferear )
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(2)

(c) Who is the author of the book, The
Mathematical Analysis of Logic?

The Mathematical Analysis of Logic Z®3S
CETF (FF ?

(d) Who is credited to have used the word
‘symbolic logic’ for the first time?

‘AT FREE e 49T AT FlOg TP
o 23 9

(e) What is unary connective?

G TAmEREE e &2

(f) “'If it does not rain, then we will go for
shopping.”’ Symbolize this proposition.

‘Afr I93° RivE R wif IEe SR
T |”’ 5901 AOITIAF SFES 915 34 |

(g) ‘‘A conjunctive function is true if at least one
conjunct is true.” Is this statement true?

‘bl TRATES T TS B AME ©F w@efs
we: BT ST M) 27 177 FYEF o7 2

(h) Name the logician who introduced the
concept of stroke function.

B FoE RG] YR 9 SEReReag Y
for4r |
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(3)

(i) Shorter truth table is allied to propositional /
predicate logic.

( Choose the right answer )

B O] OIferp] I6EF wPeawy / R
oS Ees |
( m Teseo! AR Sfersan )

(j) Symbolize the proposition ‘‘Only bachelors
are teachers’’ with the help of quantifiers.

Af{q7F 92 WIS “‘Only bachelors are
teachers’’ I5°1C01 2O SRS o |

(k) Give an example of existential prbposition.

<1 SIer b TrrEad e |

() “In a shorter truth table method a given
argument is assumed to be valid.”” Is this
statement correct?

“py srerel SIS I X IF AR
=g |7 FYER A ? |

(m) Who first used the word ‘quantification’?
‘Quantification’ *Zr(o] COMANCH (T AT

Sffeet ?

(n) State the rule of transposition.
Transpositiond forrc fora |

(o) Can a true proposition imply a false
proposition? i -
g5 @ JCA 461 SPTY) IAP et iR
| [ [ s
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(4)

2. Give brief answers for the following questions
2%x5=10

(any five) :
o 2RpTR fee Ted
(a) What are the two-fold tasks of s
logic?
B o 2 S P 7
(b) Write any two functions of symbols.

BT i It BT e ol |

(c) What, according to Russell, are the three
parts of symbolic logic?
R To ASIe SFwme o SR
f 52 |

(d) What is a prepositional variable?
TS O < 2

(R e #Awol) :

ymbolic

(e) Write two advantages of modern
classification of propositions over traditional
classification.

TS SHEETS IR S whReera
w1 4l TCE 37 |

(f) Define a singular proposition.

TP 549 TR a7y |

(g) How does a general proposition differ from a
class-membership proposition?

| S 0 I QA FOTS! 51 w11 sj2ip 2
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(5)

(h) Which rule of inference is known as chain
reasoning? State the rule.
SN G Pawe peE e @E WY
fea=r forem |

3. Answer any four of the following : 5x4=20
o4 A I B Ted fere

(a) Distinguish between constant and variable.
59 I S £ 1% (] |

(b) Distinguish between propositional logic and
predicate logic.

TS S REmE we R odRerd s
fo71 |

(c) Write a brief account of the symbolization
process by using the basic logical connectives
in propositional logic. '

AT SEREHS (o O AAGIEE
ozl $R ABIeeT AfErS B AR F97 |

(d) Use truth table to determine the validity or
invalidity of the following argument :

eyl SIFFE H2AS Tod EOR (IS Hg ey
e ==

~(p24q
q::»r

. ~pDg
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(e)

(1)

(g)

(h)

(6)

s istential
Distinguish between universal and existe

quantifier :

T e Sger ARSI AT ety 41 |

Construct shorter truth tables to determine
the validity of the following arguments :
e e (e foRE FECT 5 T
SIferss! o167 4 _
) P-4 '
&g
e

(i) P24

qgvr
= D"

Write a short note on modern square of
opposition.

R S sfewras [acr o1 oY ¢Grt fora |

What is quantification? Symbolize the
following statements by using quantifier :

oAf I 3 2 ﬁﬁmwzmeraﬁwm
AOIFIIF PR for4

(i) Only graduates are eligible for the post.

(ii) Some philosophers are not
mathematicians,

(iii) Everything is movable.
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(7))

4. Answer any four from the following questions
| {jx4z‘40

ek pped R e wifRba Tad fo
(a) “Classical logic is related to symbolic logic a5
embryo to adult organism.’’ Discuss the

statement.
“mq G oy e e /O, A
whem Wiy wRerm Fe 9@l

FEEgS |77 IS0 HCEnal 941 |

(b) What is truth table? Explain truth table
method as a decision procedure.
worel ool 2 e = R o
IR (S T 34T |

(c) What do you mean by truth-function?
What are the basic truth functions? Explain
any two of them.
serel Fad [§9 (e el FeEz & fF o
ez 61 2= 4

(d) What is a formal proof of validity?
Distinguish between rules of inference and
rules of replacement,
tageE gl aqa 7 S g e
vaAlsaesae [ g e fa |

fe) What is simple proposition? Define varigus
kinds of simple propositions with proper
example.
4ol 9o 7 TR e e QS s
sigaal fra |
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( 8)

it various
(f) What is gcnerai pmpos:tmn'? Dﬂﬁrﬁﬁ a
+ions with propet

kinds of general propos!
examples.

thod? What

(g) What is shorter truth table me
shorter

mechanism is adopted to construct a
truth table method?

5y Serel wifEl e f§7 L T SR
s FTace & (FrE wgeras $9 =W

(h) What are the strategies for constructing a
formal proof of validity? Construct a formal
proof of validity for the following :

Pqe e SeE o5 e %0
e T YfS0HR @EER AMER SIPE o0

+4q] :
FvGo~A

AvW
F.T/ w W
(i) Explain the method of symbolization of

traditional A, E, I and O propositions by using
quantifiers :

AfFMAFT 2RO “JHEC A, E, 1 9% O q6+19
AR TS TR F |
(i) Explain the four quantification rules.

off &S T7@ BIR01 307201 <547 |

* % %k
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